aerospace

climate control
electromechanical
filtration

fluid & gas handling
hydraulics
pneumatics
process control
sealing & shielding

100012
010-84450370
010-84450371
www.runcheng.net

218 C 968

ENGINEERING YOUR SUCCESS.



XR

............................................... 3
............................................... 5
401XR A4IMM e e e e e e e e e 5
402XR 58MM L e e e e e e e e 5
404XR O5MM . L e e e e e e e e e e e e e e e e e 6
406XR 10011 7
412XR 285MM e e e e e e e e e e e e e e e e e 8
400XR . 9
400XR L e 10
............................................... 11
400XR e e e e e e e e e e 11
400XR e e e e e e e e 14
.............................. 15

400XR 16
.............................................. 17
............................................... 19
401IXR L e e e e e e e 19
402XR L e e e 20
404AXR . e e e e e e e e 21
404AXR e e e e e e e e e 22
7 22
40AXR e e e e e e e e e 23
A0BXR - ¢ v e e e e e e e e e e e e e e e e e e e 24
406XR e e e e e e e e 25
406XR e e e e 25
40BXR e e e e e e e e e 26
A12XR e e e e e e e e e e e 27
A12XR e e e e e e e e 28
A12XR e e e e e e e e e 28
........................................... 29
................................. 37
............................... 38
........................................... 40

e | www. runcheng.net | 010-84450370——



400XR

Screw Driven
Tables

.« 7/
°
°
°
°
°
°
°
o]
@ Limi/Home
— © @ |
°I | S— I° m
T Q Q, ¢} Ecoder
(@)
@ | © ©
401XR 402XR 404XR 412XR
401XR 402XR 404XR 406XR 412XR
mm 300 600 600 2000 2000
kg 50 100 170 630 1470
m/s? 20 20 20 20 20
"400XR
XRS
XR

http://www_parkermotion.com.cn/product/Robot/Robot.html

e | www. runcheng.net | 010-84450370——



FEATURES

5 10 20 25
32mm

(1/8NPT)

@ 1P30

1P30

Class 10

1.800.245.6903

e | www. runcheng.net | 010-84450370——




401XR(41mm
402XR(58mm

401XR  402XR

2 mm
5 10 mm
)
)
2 mm
5 10 mm
@
2 mm
5 10 mm
* E3 E4
/

50 10 20
100 10 20
150 12 20
200 16 30
300 18 40
400 - -
600 - -

400XR
401XR 402XR 401XR 402XR
pum +1.3 = +5 =
2e11.8 +1.3 +12 +12
% 100 100 100 100
m/sec? (in/sec?) 20 (773) 20 (773) 20 (773) 20 (773)
kgf (Ibs) 50 (110) 100 (220) 50 (110) 100 (220)
kgf (Ibs) 5.5(12.1) - 5.5(12.1) -
15.5 (34.2) 38 (84) 15.5 (34.2) 38 (84)
% 80 80 80 80
Nm (in-02) 0.08 (4.2) 0.086 (12.0) 0.08 (4.2) 0.086 (12.0)
Nm (in-02) 0.028 (4.0) 0.08 (11.3) 0.028 (4.0) 0.08 (11.3)
0.01 0.01 0.01 0.01
mm 6 - 6 =
8 12 8 12
kg (Ibs) 0.045 (0.1) 0.11 (0.25) 0.045 (0.1) 0.11 (0.25)
2 2rps
* (um) (10° kg-m?)
402XR 401XR 402XR (rev/sec) (ka)
401XR 402XR 2mm 10mm 5mm 10mm 401XR 402XR 401XR 402XR
- - 20 - 0.6 - - - 100 - 1.0 -
10 20 20 20 0.9 - 12.0 - 100 90 1.2 2.3
12 20 20 20 1.1 - 15.0 - 100 90 1.3 2.6
16 30 25 25 - 4.7 20.0 - 100 90 1.5 2.8
18 40 25 25 - 5.2 - 25.0 100 90 1.7 3.2
21 40 - 30 - - - 29.0 - 95 - 3.8
25 50 - 30 - - - 39.0 - 50 - 4.8
| www. runcheng.net | 010-84450370——



404XR(95mm

404XR 47 .3x95mm
170kg 600mm
404XR
®
um +1.3 +3
- +25
% 100 100
- 50
m/sec? (in/sec?) 20 (773) 20 (773)
0 kgf (Ibs) 170 (375) 170 (375)
@
kgf (Ibs) 90 (198) 90 (198) /
- 25 (55)
% 90 9 ()
= 30 @ 2.5Nm
Nm (in-0z) 0.13 (18) 0.18 (26)
) (3 2rps
@ Nm (in-0z) 0.11 (16) 0.17 (24) "
0.01 0.01
(5)
16 16 6
mm - 12.7 ©
kg (Ibs) 0.70 (1.55) 0.70 (1.55)
/
*@ 6 (um) * kg-m?) @
(revs/sec)
(mm) 5mm 10mm 20 mm (kg)
50 8 12 20 6 8 1.68 1.81 2.34 60 15 2.8
100 8 12 20 6 8 1.93 2.07 2.60 60 15 3.0
150 10 14 30 9 12 2.19 2.32 2.85 60 15 8.3
200 12 20 40 10 16 2.44 2.57 3.11 60 15 3.6
250 12 22 50 12 16 2.69 2.83 3.36 60 15 3.9
300 14 24 60 13 18 2.95 3.08 3.61 60 15 4.2
350 14 26 70 15 23 3.20 838 3.87 60 15 4.5
400 16 26 80 16 27 3.46 3.59 4.12 60 15 4.8
450 19 28 90 18 30 3.71 3.84 4.37 60 15 5.1
500 21 34 100 19 30 3.96 4.10 4.63 60 15 5.4
550 23 36 110 21 30 4.22 4.35 4.88 60 15 5.7
600 25 40 112 22 30 4.47 4.60 514 54 15 6.0
e | www. runcheng.net | 010-84450370——




SPECIFICATIONS

406XR (L150mm

406XR 2m 630kgf
270Nm
5 10 20
25mm /
c
2
=
oo
2q
® pm +1.8 +3 oF
% 100 100 A
m/sec? (in/sec?) 20 (773) 20 (773)
™ kg (Ibs) 630 (1390) 630 (1390)
@
0-600mm kg (Ibs) 90 (198) 90 (198)
700-2000mm - 200 (440)
% 90 90
(1)
%g(_)(z)ggomm Nm (in-02) 0.18 (18) 8:;8 ggg @ 35 10 20mm 63kg
mm 104kg
(€] (3) 2rps
0-600mm Nm (iﬂ-OZ) 0.11 (1 6) 0.17 (24) (4)
700-2000mm - 0.34 (48)
0.01 0.01 (5)
6)
0-600mm mm 16 16
700-2000mm - 25
kg (Ibs) 2.7 (5.94) 2.7 (5.94)
/
* (4) (5) 5 2 6)
o) (um) (10 kg-m?)
5mm 10mm 20mm 25mm (revs/sec) (k)
100 8 12 6 3.34 3.85 5.90 - 60 8.7
200 12 20 10 3.92 4.43 6.48 - 60 10.0
300 14 24 8 4.50 5.01 7.06 - 60 11.3
400 16 26 16 5.08 5.59 7.64 - 60 12.6
500 21 34 19 5.65 6.17 8.22 - 58 13.9
600 25 40 22 6.23 6.75 8.80 - 44 15.2
700 = 92 25 36.51 37.02 = 40.61 a7 19.2
800 - 94 29 39.96 40.47 - 44.07 a7 20.7
900 - 108 32 43.41 43.93 - 47.52 47 22.2
1000 - 105 86 46.87 47.38 - 50.97 47 28.7
1250 - 118 42 55.50 56.01 - 59.61 85 27.6
1500 - 134 50 64.14 64.65 - 68.24 26 31.4
1750 - 154 57 72.77 73.28 - 76.88 20 35.2
2000 - 159 65 81.40 81.92 - 85.51 16 39.1
—_— | www. runcheng.net | 010-84450370——
7



412XR(285mm

412XR 285mmx105mm
2m ( 1470kgf)

“ ”

#100-6784-01 X-Y

-

mm 5,10, 25 32
2 2rps
@ pm +5 +5 @)
% 100 100
m/sec? (in/sec?) 20 (773) 20 (773) )
0] kg (Ibs) 1470 @241) 1470 (3241) ©
kg (Ibs) 200 (441) 460 (1014)
% 90 80
Nm (in-oz) 0.61 (86) 0.76 (108)
@ Nm (in-0z) 0.55 (78) 0.69 (98)
0.01 0.01
mm 25 32
kg (Ibs) 12 (27) 13 (28)
/
©) @ ( 10 kg-mz) (5)
(revs/sec)

(mm) (Hm) 5mm 10mm 25mm 32mm > ;0';125 32mm > ;10&25 32 mm
150 64 9 27.20 29.45 46.76 98.20 47 42 39.6 415
250 66 12 30.21 32.46 49.78 106.28 47 42 42.9 45.0
350 71 15 33.23 35.48 52.79 114.37 47 42 46.2 485
650 91 24 4227 44,52 61.83 138.63 47 42 56.1 59.0
800 94 29 46.79 49.04 66.35 150.76 47 42 61.0 64.2
1000 105 35 52.81 55.06 72.37 166.94 45 42 67.6 71.2
1250 118 42 58.84 61.09 78.40 183.11 34 41 74.2 78.2
1500 134 50 67.87 70.12 87.44 207.38 24 31 84.1 88.7
1750 154 57 75.41 77.66 94.97 227.59 18 24 92.4 97.5

2000 159 65 82.94 85.19 102.50  247.81 15 19 100.6 106.2

e | www. runcheng.net | 010-84450370——



SPECIFICATIONS

400XR /

/
1 2540
c
(]
2 o
™
oo
2g
ok
1
O
(70}
— 401XR 2 mm lead ||
~— 401XR 5 mm lead ||
NN\ — 402XR 10 mm lead |
"\
\
\ \ — 401XR \ \
\ AN — 402XR
\ N N\ \\\
.
N\, S ' Catalog values are rated at 2,540 Km of life =~
\\ \\
N\ .
SN
~_
N\ o~
~ Catalog values are rated at 2,540 Km of life —
~ - 404XR
\ ~ —406XR
\ NC ~—412XR
\ \\ N
\ \ <
\ N N |V N i R G
\ - Catalog values are rated at 2,540 Km of life
\
\
N
Catalog values are rated at 2,540 Km of life
404 - 406XR 20 mm lead x 16 mm dia. = 412XR 5 mm lead x 25 mm dia.

404 - 406XR 10 mm lead x 16 mm dia. = 412XR 10 mm lead x 25 mm dia.
404 - 406XR 5 mm lead x 16 mm dia. ~ 412XR 25 mm lead x 25 mm dia.
404 - 406XR 25 mm lead x 25 mm dia. = 412XR 32 mm lead x 32 mm dia.
404 - 406XR 10 mm lead x 25 mm dia.
404 - 406XR 5 mm lead x 25 mm dia.

e | www.runcheng.net | 010-84450370——




SPECIFICATIONS

400XR / *

/
4
N\
Catalog values are rated at 2,540 Km of life
d1
d2
da

406XR 114 90.3 42.5

N\
‘\‘

Catalog values are rated at 2,540 Km of life

e | www.runcheng.net | 010-84450370——

10



OPTIONS

401XR

400XR
5
003-2918-01 401XR  406XR o
401XR Limits and Home Sensor
c
2
l: m
ne
o NPN PNP o)
. N.C. N.O. 2 S
1.
[ ]
Connector Cable 3
Target
5-30 VDC, 20 mA N _\-
100mA max
*) I 20,5
Q) J13,0g L 30,0—4
Sensor / Bracket Detail
H2 or L2 006-1639-01 N.C. 3.0m
H3 or L3 006-1639-02 N.O. 3.0m
H4 or L4 006-1639-03 N.C. 3.0m
H5 or L5 006-1639-04 N.O. 3.0m
H6 or L6 006-1639-09 N.C. 150 mm
H7 or L7 006-1639-08 N.O. 150 mm
H8 or L8 006-1639-11 N.C. 150 mm
H9 or L9 006-1639-10 N.O. 150 mm
H11 or L11 See chart below N.C. See chart below
H12 or L12 See chart below N.O. See chart below
H13 or L13 See chart below N.C. See chart below
H14 or L14 See chart below N.O. See chart below

* Applies to 401XR thru 406XR models. 412XR models have limits and homes internally mounted with a connector termination. Sensor triggers (targets)
ordered separately.

|<_ 75Mm g

+5  +24VDC A
3 Meters 006-1742-01 1 LXR-) B
7.5 Meters 006-1742-02 2 LXR+) C
D
Black E
/
N | www.runcheng.net | 010-84450370——
11



e 1.0 um
e 0.5um
e 0.1 ym

5VDC, 150mA

A/B quadrature and reference mark,
differential line drive output

1.0, 0.5, 0.1 micron
3m

¢ 5000

OPTIONS

/ 9.5Dia, 213
Shaft Mounting
Hole 25
38.1
404XR 4{
406XR 412XR (2)3.7 Dia. Holes
on 46.0 Dia. B.C.
5VDC, 135 mA

A/B quadrature and reference mark,
differential line drive output

1250 lines/rev equals 5000 counts post
quadrature (1 um with 5 mm lead ballscrew)

150 mm

5m

401XR/402XR
404XR
406XR
412XR

006-1627-01
006-1656-01
002-1916-01

12

[ epo

(mm)

A B
24VDC,0.46 A 2.0Nm 41.5 46.0
24 VDG, 0.5 A 4.5 Nm 49.9 57.5
24VDC,0.75A  9.0Nm 54.0 72.0

| www . runcheng.net | 010-84450370——



400XR

Screw Driven
Tables

401XR
*401XR  402XR 404XR50mm

e | www. runcheng.net | 010-84450370——

13



400XR

Ty

e-Configurator

UMA
404XR  406XR e-Configurator

e-Configurator

XR

MU90

MUGO

e | www. runcheng.net | 010-84450370——

14



OPTIONS

m UMA

e-Configurator 1-800-358-9070

m eConfigurator ™: 404XR

Product Number__Options 404 300 XRM S __ D2 H1L1R1

Select Attributes

SERIES: 404
TABLETRAVEL: | 300mm

MODEL:  XR - Square Rail Positioner
MOUNTING [METRICE: M
GRADE: S - Standard

Screw Driven
Tables

DRIVE SCREW: 02 - Smm Ballscrew

HOME SENSOR: H1 - No Home Sensor

LIMIT SENSORS: L1 - Me Limit Sensors

ENVIRONMENTAL: R1 - Class 1000 Compatable

MOTOR MOUNT TYPE:

R T

Parker Europe

0521 or 0522 or 052H
PM-FAL

PM-FBL

PX&0

557 Series

-- Please Select One --

BW - Bel

e | www . runcheng.net | 010-84450370——




4OOXR ACCESSORIES

z
400XR
401XR 002-2063-01 404XR 002-3618-01
402XR 002-2064-01 406XR 002-3624-01
404XR 002-3619-01 412XR 002-2160-01
406XR 002-3625-01
412XR =
401XR/402XR 404XR
002-2063-01/ 002-2064-01 002-3618-01
(2) Mtg. Holes for 1) Mtg. Hol
M6 Cap Screw "C" High o #J M8 Low fead
el T
15 bod g
‘ | B Ctr'd | F L s
‘ A | s 4
Dimensions (mm) I J 40
A B C 18.5 -
401XR 65.0 50.4 17.0
402XR 90.0 75.4 10.0 406XR
002-3624-01
404XR
002-3619-01 %2) Mtg. Holes
or M6 Screws
(2) Mtg. Holes
22.0 High for M6 Cap Screw 59.0 ét5rg
LA |- 145
i
25.0 I 10.9 6.1
ctrd T 5.7
‘ 110.0 Ctr'd ‘ 230~
1250
412XR
406XR 002-2160-01
002-3625-01 -
(3) Mtg. Holes
_‘_ for M6 Screws
100.089:9 —-
l_ 50.0
50.0 -
Ctrid l
168.0 Ctr'd
185.0 |-
12’-7_'-
4.0
300
JE— | www. runcheng.net | 010-84450370——

16



400XR

c
g
59
e
S'©
el—
3]
(/7]

(Y or 2)*
401XR 412XR
(X) * 50 mm >50 mm 402XR 404XR 404LXR 406XR 406LXR 412LXR Wedge
X-Y 002-2126-01 002-2065-01 — — — — — — —
401XR X-Y 002-2123-01 002-2068-01 — — — — — — —
X-Z — 101-0955-01 — — — — — — —
X-Z 002-2123-01  101-0955-01 — — — — — — —
X-Y 002-2130-01 002-2066-01 002-2066-01 — — — — — —
402XR X-Y 002-2069-01 002-2069-01 002-2069-01 — — — — — —
X-Z — 002-2069-01 002-2069-01 — — — — — —
X-Z 002-2125-01  002-2069-01 002-2069-01 — — — — — —
X-Y 100-9193-01 100-9193-01 100-9193-01 *  100-9584-01 — — — 100-9274-01
ey — — — 100-3945-01 100-3945-01 — — — —
X-Y
404XR 002-2162-02 002-2162-02 002-2162-02 — — — — — —
404LXR Yy
002-2162-02 002-2162-02 002-2162-02 — — — — — —
X-Z = = = 002-1839-01 — — — — —
X-Z — — — 002-1840-01 — — — — —
XY 100-9194-01 100-9194-01 100-9194-01 * * * * — 100-9274-01
XY - — - 100-4191-01 100-4191-01 100-4191-01 100-4191-01 — -
406XR
406LXR| X-Y = = = 002-2163-01 002-2163-01 — — — —
X-Z = = = 002-1823-01 — 002-1817-01 — — —
X-Z = = = 002-1824-01 = 002-1818-01 = = =
* * * *
412XR X-Y = = = 100-6784-01 —
2R v = = = = = 002-2164-01 002-2164-01 = =
ZP 200 Xy _ _ _ 100.9974.01 100-9274-01 100-9274-01 0o o _ _
or Toe Clamp or Toe Clamp
* 100-3945-01 X

Y 50mm  404XR
e | www. runcheng.net | 010-84450370——

17



400XR

X-Y

X-Y-Z

X-Y

X-Y-Z

X-Y-Z

X-Z-Y

18



401XR

4 mm Dowel Hole

I

Slip Fit
Dl.022]

\‘45-0* y M4 X 0.7 Th'd

34.0 E :
ctr'd. :

S AL °

150
ctr'd.

Top View

92.0 —-I
o
E : f n:l (mid-travel)

o - : —= |
430 . l -
@ ° o [} ° J
Front View B
|
IIAII IIHII
) e nen nge
=——"D" Spaces @ "C - 18.0
"C" Ctr'd
d o o o 3 oy 2 i
= :
gl © © S © - J T
Bottom View \ Glearance holes for M4
Low head screws
(mm)
(mm) A B (o D E J
401050XR 50 209.3 828 80.0 1 80.0 123.0
401100XR 100 284.3 80.3 40.0 4 160.0 160.0
401150XR 150 334.3 85.3 40.0 B 200.0 185.0
401200XR 200 384.3 90.3 40.0 6 240.0 210.0
401300XR 300 509.3 92.8 40.0 9 360.0 260.0

: M3 x 0.5Th'd
on 46.69 bolt circle

SM 16

#4-40 Clearance
on 43.84 bolt circle

NEMA 17

19

www . parker .com/emn/401XR

2D&3D

Dimensions (mm)

Shaft

Optional
Encoder
Package E 3

; /ﬂ 20.5OH

R o
o

End View

o)

SM 16

NEMA 23/SM 23
NEMA 17

BE 23

38.2 dia.
M4 x 0.7 Th'd
on 66.68 bolt circle

SM 23 or NEMA 23

ri—4o.9-t (4) Tapped

Mtg. Holes

Optional

Limit/Home
ﬁ 17.6 = ~Sensor Pack

5 mm dia. ﬂ15.6 F
TNE=E__y

o
)

wwr| ! o349

2| %2 i49.5
S 7‘ *
S 195
]

Motor Pilot Dia.

Enlarged End View

F
M2 40.9
M3 57.2
M37  40.9
M61 57.2

G
39.1
57.2
39.1
57.2

(with Encoder and Limit/Home Sensor Pack Option)

(mm)
H I
- 6.5
40 156
- 6.5
80 156

38.2 dia.
M4 x 0.7 Th'd
on 66.68 bolt circle

www . runcheng.net |

BE 23

010-84450370——

c
g
59
e
S'©
el—
3]
(/7]




402XR

2D&3D
www . parker .com/emn/402XR

—
9 _9—~8 o —
© o o © C
.ﬁ. 70 ©
. oo © ° ° ©
401XR  402XR 404XR 406XR
Dimensions (mm)
Optional
Limit/Home
6 mm dia. 185 17.8,  Sensor Pack
Shaft T
V 35.4
25.0
Optional $f A RA
Encoder N J
Package 7 #@_ 20‘-3
(4) Tapped ‘28-34
Mtg. Holes
Motor Pilot Dia.
Enlarged End View
(with Encoder and Limit/Home Sensor Pack Option)
(mm) (mm)
(mm) A B D J F G H
402100XR 100 320.5 83.5 4 184.0 SM 16 M2 40.6 40.6 =
402150XR 150 370.5 83.5 © 214.0 NEMA 23/SM 23 M3 57.2 57.2 4.0
402200XR 200 420.5 83.5 6 234.0 NEMA 17 M37 40.6 40.6 -
402300XR 300 520.5 83.5 8 284.0 BE 23 M61 57.2 57.2 8.0
402400XR 400 620.5 83.5 10 334.0
402600XR 600 820.5 83.5 14 434.0

-

o
57.2 57.2
40.6 d 4 o b
o l o £ o P

30.0 dia . . 38.2 dia. J / 38.2 dia.—/ /
20.0 dia. M3 x 0.5 Th'd #4-40 Clearance M4 x 0.7 Th'd M4 x 0.7 Th'd
on 46.69 bolt circle on 43.84 bolt circle on 66.68 bolt circle on 66.68 bolt circle

SM 16 NEMA 17 SM 23 or NEMA 23 BE 23
e | www. runcheng.net | 010-84450370——

20



404XR

2D&3D
124.0 www . parker .com/emn/404XR
110.0 )
25.0 Ctr'd 8 Mtg. Holes (Top)
Cird / M6 X 1.0 Th.
. [ i |
T %o *[®%0o ]
100 ©0 83.0 85.0 95.0
E:‘- Ctr'd Ctr'd
= Dimensi
LI 8 8 8 8 . 3525 imensions (mm)
leadscrew)
QO o | &0 =5 ==
Dowel Holes
for 4 mm Pins 50.0___]
2 Holes (Top) Ctr'd
Slip Fit Top View
E_ptional
171.0 Optional 1 160 B Elr?:eoadrer
i S < Home/Limit V4
Switch = =
— — }: . - L 473
] ] , ) ) 23.1 |
Optmnal/ © © |
Toe Mounting l_ j
Front View Clamp 475
110.0
A 124
172 7A" i End View
~— "C" Spaces "E" "C" Spaces—
@750="D" ctr'd @750="D" A4 130
3.0+~ "F" —120.5
Ctr'd
— 25.0
| 5 o6 | o6 ¢ G
50.0 —
Ctr'd
| 4 & & 4 @ & —
Dowel Holes 85.0 "B" C'bored Mtg. Holes (Far Side)
for 4 mm Pins Ctr'd for M6 Low Head Cap Screws (included)
2 Holes (Bottom) Bottom View 2.5 mm Grip
Slip Fit
(mm) A B C D E F
404050XR 50 259 4 - - - -
404100XR 100 309 12 1 75.0 50.0 85.0
404150XR 150 359 12 1 75.0 50.0 85.0
Slot for Std. 404200XR 200 409 12 1 75.0 50.0 85.0
W Squ'ireSINgt_\ 404250XR 250 459 16 2 150.0 50.0 85.0
ots . . .
5 Be—t7ris
J ~ Y : 404300XR 300 509 16 2 150.0 50.0 85.0
234 | nl‘_\ J_‘J A 42
b ; < 26 5 Typ. 404350XR 350 559 16 2 150.0 50.0 85.0
6.6 I:Tyb_ 404400XR 400 609 20 3 2250 50.0 85.0
{er.O—' 404450XR 450 659 20 3 225.0 50.0 85.0
yp.
View showing slots in extruded base 404500XR 500 709 20 3 2250 500 85.0
404550XR 550 759 24 4 300.0 50.0 85.0
404600XR 600 809 24 4 300.0 50.0 85.0

21

www. runcheng.net |

010-84450370——



404XR

("A")

(See Table Dwg.)

Dimensions (mm)
la—13.0

e "K'

(4) Tapped

S

| —

‘ aj‘ e Mtg. Holes
¢ Motor

[—

AN

o™

Motor Mount
This Side
Motor Pilot Dia.
(mm)
K L M N P
SM 16 M2 9.5 41.0 4.3 53.0 45.0 45.0
NEMA 23 M3 9.8 41.0 6.5 83.0 58.0 45.0
NEMA 34 M4 9.5 41.0 12.5 83.0 83.0 45.0
NEO 70 M21 11.0 53.0 = 69.9 69.9 69.9
e 609 — = 83.0
46.0
[=—58.0 —= Ctr'd
- T I o
Iz o NG YOI— &
450 - - ’ & —r _F
I lep L9 % -
(4) Mtg. Holes—/ (4) Mtg. Holes -38.2 Dia. (4) Mtg. Holes 60.1 Dia. (4) Mtg. Holes 73.1 Dia.
For M3 Screws on Motor Pilot for M4 Screws on Motor Pilot for M5 Screws on Motor Pilot for M5 Screws on Motor Pilot
46.69 bolt circle 66.68 bolt circle 75.00 bolt circle 98.43 bolt circle
SM 16 NEMA 23 NEOMETRIC 70/SMN060 NEMA 34
404XR 62
mm 16mm 404XR www . parker .com/emn/404XR,
IIKII IILII
12.5 16 -35 16.5
12.5 35.1 - 41 22.5
~37.0
13.0-~
g b 62.0—=
I:‘HI-" 315
o® o g N
= Sk
s N | |
s} @°
Nn_mr_ﬂount f
L45.0 This Side Motor Pilot Dia. Las
e | www. runcheng.net | 010-84450370——

22



DIMENSIONS

A B C
("A") 130 SM 16
317 I—— [* 150 *\
S R 37,0
29.0 ﬂ Ctr'd WV
—1
Y (mm) (mm) L Ctr'd
%0 1560  gM 16 45.0 34.5 0.250” —¥
o 4) Mtg. Hol 20,1
SM 23/BE 23 58.0 34.5 0.375 (fo)r Mg Sc(;:v?/s on Motor Pilot
NEMA 23 58.0 34.5 0.250” 46.69 bolt circle

7]
2
8
[

Moy J‘ NEMA 23
" L_Z f 96.0 ; 96.0 r 58,0 a‘
37,0

| | crid ||

c
()
2
-
(a]
3
(]
e
O
n

- — 460

58,0 B0
1.0 ¢ Motor
POSITION A
(Not compatible with POSITION B (4) Mtg. Holes 38,2 Dia.
sensor pack option) for M4 Screws on Motor Pilot
¢ Motor 66.68 bolt circle
POSITION C
e | www. runcheng.net | 010-84450370——

23



406XR

1680 2D&3D
! Ctr'd www . parker . com/emn/406XR
110.0
I'_Ctr'd
50.0
H !.-Ctr'd Ll 1250
Ctr'd _ (20) Mtg. Holes (Top)
! ! M6 X 1.0 Thrd.
X | o700 | [ - - ] |
0|0 136.0
2 = === Ctr'd
—— 60 500 r15)0 . .
—d Ct{'d Ctr'd 130.0 ’ Dimensions (mm)
D10 a —_— ————-1 g
N | olg - _
Dowel Holes 80.0
fozrg rlnm Pins—/ I'_Ctr'd_'
oles (10
102
[€D].022] Top View
Optional
267.0 11. Linear
| | Optional 4—‘ Encoder
E 900 E ) Home/Limit (Q
— Switch
- — Optional y
J Toe Clamp—/ui-- &
Front View Mounting i
np Ii
172 "A* End View
"c" Spac“esul 1 T T "C" Spaces
37l @1000="0" L 50.0~ "B Mig. Holes | & 100-0="D 140
Ctr'd | M6 x 1.0 Thd. -~ |=-18.0 (< 600 mm travel)
20.0 (> 700 mm travel)
] : — — 125
stlw - - ; ; 50’01160
Ctlr"d = rd oo
T N ol I
- /
Dowel Holes for 5 mm Pins /| | .
2 Holes (Bottom) Slip Fit “E" C'bored Mtg. Holes (Far Side)
for M6 Cap Screws 8 mm Grip
"F" Spaces — 1(%?.'(? @F”S)gage_sG
@100.0="G 136.0 0=
Ctr'd
Bottom View
(mm)
Slot for Std. 135 (mm) %] A B (o} D E F G H
g/lﬁsllsﬁu(a}re)Nut T Typ. 4060100XR 100 16 408 8 1 100.0 12 1 100.0 8.0
ots (10
° %3; 42 75  4060200XR 200 16 508 8 1 1000 12 1 100.0 8.0
r ¥ ' o:ﬁ 4060300XR 300 16 608 12 2 200.0 16 2 200.0 8.0
413, L_ L1 4060400XR 400 16 708 12 2 200.0 16 2 200.0 8.0
&i;l_ J 59 877 4060500XR 500 16 808 16 3 300.0 20 3 3000 8.0
Siot for . S| ° 7" 4060600XR 600 16 908 16 3 3000 20 3 3000 80
Do et |—735_ 4060700XR 700 25 1008 20 4 4000 24 4 4000 100
‘ . TVp'_ 4060800XR 800 25 1108 20 4 400.0 24 4 400.0 10.0
View of Slots in Extrusion 4060900XR 900 25 1208 24 5 5000 28 5 500.0 10.0
4061000XR 1000 25 1308 24 B 500.0 28 5 500.0 10.0
4061250XR 1250 25 1558 32 7 7000 32 6 600.0 10.0
4061500XR 1500 25 1808 36 8 800.0 40 8 800.0 10.0
4061750XR 1750 25 2058 40 9 900.0 44 9 900.0 10.0
4062000XR 2050 25 2308 44 10 1000.0 48 10 1000.0 10.0

www. runcheng.net | 010-84450370——

24



DIMENSIONS
406XR

Dimensions (mm)

o
=~

Motor Pilot Dia.

T
(See Table Dwg.)

(4) Tapped
Mtg. Holes

¢ Motor

Motor Mount
This Side

(mm)

K L M N P g
MPP092 MO0  16.0 53.0 125 920 920  69.0 E )
NEMA 23/SM 23 M3 9.5 41.0 - 850 67.0 67.0 | = 4
NEMA 34 M4 16.0 530 1385 850 850 700 S ﬁ
NEO 34 M17  16.0 530 1385 850 850 700 g =
NEO 70 M21 16.0 53.0 - 850 700 700 |7
NEO 92 M29  16.0 530 125 920 920 70.0

] [T #] o]

(4) Mtg. Holes 38.1 Dia. (4) Mtg. Holes (4) Mtg. Holes 73.1 Dia. (4) Mtg. Holes ' 80.0 Dia.
for M4 Screws on Motor Pilot for M5 Screws on Motor Pilot for M5 Screws on Motor Pilot for M6 Screws on Motor Pilot
66.68 bolt circle 75.00 bolt circle 98.43 bolt circle 100.00 bolt circle

NEMA 23 or SM 23 NEO 70 / SMN060 NEMA 34 or NEO 34 MPP092

406XR

UMA 406XR 90
mm 20.5mm 406XR www . parker .com/emn/406XR,
IIKII IILII
39.8 20 -40 20.0
47.8 40.1 - 28.5 28.5

e | www . runcheng.net | 010-84450370——




DIMENSIONS
406XR

A B C
z
Y (mm) (mm)
MPP092 92.0 65.7 16.0 mm
NEMA 34 83.0 62.0 0.375”
NEO 34 83.0 62.0 0.500”
NEO 70 70.0 60.0 11.0 mm
SM23/BE23 70.0 B 0.375”
[ %c
1.5j ¢ Motor 110.0 | ¢ Motor
POSITION A B! POSITION B
(Not compatible with ._7|_ :
Sensor Pack option) |
¢ Motor “@_..__ @
POSITION C
e | www . runcheng.net | 010-84450370——
26



412XR

2D&3D
www . parker .com/emn/412XR

Mounting Holes (Top)
300.0 M6 x 1.0 Thd.
250.0 Note: Additional holes are provided for
Ctr'd direct mounting, toe clamp mounting and pin holes
for the 404XR/LXR and 406XR/LXR. (see CAD files)
R =i o
o 0
] .
—D ! |
260.0 100.0 266..(?
ctr'd - L # Ct{ d Cr Dimensions (mm)
o Q0
= = ¢
Dowel Holes
E" 8.0 mm Pins — 120.0__
2 Holes (Top) Ctr'd
Slip Fit Top View
404.0
t 285.0 }
Lr 4 Toe Clamp
_ =ml o g B r 32.0 l 1) o) Mounting
Optional)
i ( -
—————————\ [
14.0 T
Front View 1 57‘0__1 50.0-
168.0——
npn
Dowel Holes End View
E" 8.0 mm Pins
"A2" 2 Holes (Bottom
Slip Fit 0.022‘
L2 + + + % + + %
o o
l ) oo
120. 240.0
Ctr'd Ctr'd
l o o o o
o o
f + + ? «f + +
™~ "B" Mounting Holes
M8 x 1.25 Tapped (Bottom Mounting)
4= C'bored for M6 x 1.0 Cap Screws (Top Mounting)
"C" Spaces @ 100 = "D" 100.0 "C" Spaces @ 100 = "D"—
(See Notes) Ctr'd (See Notes)
(See Notes)
Notes: 260.0 (mm)
-Base mounting holes for model Ctr'd
412710 and 412T12 are patterned ) (mm) A B c D
from one hole on centerline Bottom View 412701 150 764 12 2 200
412702 250 864 16 3 300
°e°° °°° 412T03 350 964 16 8 300
Ppe v e ek 412704 650 1264 24 5 500
°o o ° o 412T05 800 1414 24 5 500
. 412T06 1000 1614 28 6 600
' 412T07 1200 1814 82 7 700
. e 412708 1500 2114 40 9 900
boe ¢ o @ od 412T09 1750 2364 44 10 1000
o o o o o o | 412T10 2000 2614 50 12 1200
285.0 -+15.0

X-Y Adapter Plate #100-6784
(Used to mount any 404XR, 406XR
or 412XR with toe clamps)

27

www. runcheng.net |

010-84450370——



412XR

Dimensions (mm)

M—
("A") UKL
(See Table Dwg.) ~1/2 "M
o) ot 5] [
g * g 5
Qy 1/2T"N”
— | o | 2 F 2]
(4) Tapped -
M tg.al?lglees Motor Pilot Dia.
(mm)
K L M N
MPP092 M90 68.0 12.0 115.0 97.0
M105, SMN100 M33 100.0 = 115.0 115.0
NEMA 34 M4 68.0 12.0 115.0 97.0
NEO 34 M17 68.0 12.0 115.0 97.0
NEO 70 M21 68.0 = 115.0 97.0
NEO 92 M29 68.0 12.0 115.0 97.0
115.6
—— 115.0 ——~ —— 115.0——~ 0
20 3, Ctrid
Ctr'd Ctr'd
!_J | I_WE rﬂ_! B ¢
) ah g P E
oo - 4o T 970 53f.o s HEC-L &
: Ctr'd : ' : kj Ctr'd 1
—1 1 /| 4
? + bl ¢
(4) Mtg. Holes 60.1 dia, (4) Mtg. Holes 73.2 dia. (4) Mtg. Holes / 80.1 dia, (4) Mtg. Holes 95,6 dia,
for M4 Screws on Motor Pilot o 5 Screws on Motor Pilot for M6 Screws on Motor Pilot for M8 Screws on Motor Pilot
75.00 bolt circle 98.43 bolt circle 100.00 bolt circle 115.11 bolt circle
NEO 70 / SMNO060 NEMA 34 or NEO 34 MPP092 M105 / SMN100
A B C
i
o]
/ (mm) (mm)
Table
— MPP092 100.0 80.0 16.0 mm
ﬂ NEMA 34 98.4 73.2 0.375”
— 2375 5705 NEO 34 98.4 73.2 0.500”
s B NEO 70 75.0 60.1 11.0 mm
NEO 92 100.0 80.1 14.0 mm
150.0 Motor
Motor Mount 75.0
This Side - ‘
Lﬁ 237.5 237.5
9.5~
L 795 Table
g 990 N ._Z" ‘ 7 ‘
| / N
1.0 Motor Motor
POSITION A POSITION B
e | www. runcheng.net | 010-84450370——

28



ORDERING INFORMATION

® @ & ® 6 ©® @ ©) @ ®
401 100 M S D9 E2 Rl
@ * *%
401 L1
L2
©) =mm* L3
050 50 L4
100 100 L5
150 150 L6 g
200 200 2
300 300 L7 c &
o=
L8 °
L9 S '®
® 11 oF
XR IT)
L12 (7))
@ L13
M L14
® ®
s C1
P E3 E4 Cc2 6.3mm 0.25
C3 6.3mm 0.25
® * C5 9.5mm 0.375
D3 10mm C24 5mm 0.20
D9 omm C25 5mm 0.20
@ *%
HA M2 SM16
H2 M3 NEMA23 0.375
H3 M37 NEMA17
H4 M61 BE23
H5
H6 @
H7 E1
H8 E2 1.0um
Ho E3 0.5um
H11 E4 0.1y m
H12
H13 @ R
H14
*
401XR
Travel 5 m 10 Mm
50 .
100 o
150 o
200 °
300 o
**401XR50mm 2
e | www . runcheng.net | 010-84450370——
29



100
150
200
300
400
600

XR

D2
D3

H1
H2
H3
H4
H5
H6
H7
H8
H9
H11
H12
H13
H14

100
150
200
300
400
600

2mm
10mm

*%

E3 E4

Travel

10 mm

100

150

200

300

400

600

L11
L12
L13
L14

C1
c2
C3
Cc4
C5
C24
C25

*

M2
M3
M37
Mé61

E1
E2
E3
E4

30

ORDERING INFORMATION

6.3mm 0.25

6.3mm 0.25

9.5mm 0.375 *
9.5mm 0.375

5mm  0.20

5mm  0.20

NEMA23 M3 M81

SM16
NEMA23 0.375

NEMAL17
BE23

1.0pum
0.5um
0.1y m

| www . runcheng.net | 010-84450370——



050
100
150
200
250
300
350
400
450
500
550
600

XR

D1
D2
D3
D4
D31
D32
D33
D34
D35

H1
H2
H3
H4
H5
H6
H7
H8
H9

100
150
200
250
300
350
400
450
500
550
600

5mm
10mm
20mm

1mm
2mm

5mm
0.1
0.1

*%

<<

D2 D3 D4

* % ok ok

ORDERING INFORMATION

©)
H11 *x
H12 *x
H13 *x
H14 *x
L1 g
L2 >
T 0
L3 09
o]
s !
L6 * 23
L7 * n
L8 *
L9 *
L11 *x
L12 *x
L13 *x
L14 *x

| www.runcheng.net | 010-84450370——



E1
E2
E3
E4
E5

B1
B2

R1
R2
R5
R8

P1
P2
P3
P4
P5
P6

**Z

32

ORDERING INFORMATION

1.0um

0.5u m

0.1y m

404XR

Class1000

Class10

Class1000

Class10

*

X Y Z -30 *x
Y X =30

Z X =30

X Y -125

Y X -125

404XR  406XR
XR LXR
XY Y 3
18 7 8 9

| www.runcheng.net | 010-84450370——



100
200
300
400
500
600
700
800
900
1000
1250
1500
1750
2000

XR

D1
D2
D3
D4
D5

H1
H2
H3
H4
H5
H6
H7
H8
H9
H11
H12
H13
H14

100
200
300
400
500
600
700
800
900
1000
1250
1500
1750
2000

5mm

10mm
20mm
25mm

**

**

**

**

*k*k

*k*k

*k*k

*k*k

33

L11
L12
L13
L14

ORDERING INFORMATION

**

**

**

**

7]
2
8
[

*k*k

c
()
2
-
(a]
3
(]
et
O
n

*k%k

*k*k

*k%k

10mm| 5

3

10 mm |20 mm |25 mm

100

200

400

400

500

600

RRRIRE]

700

800

900

1000

1250

1500

1750

..............3

2000

*k

www . runcheng.net |

010-84450370——



ORDERING INFORMATION

a
E1
E2 1.0um
E3 0.5um
E4 0.1y m
E5
@
B1
B2 406XR
@®
R1 Class1000
R2 Class10
R5 Class1000
R8 Class10
*
P1
P2 X Y Z -30 *x
P3 Y X -30
P4 z X -30
* 404XR  406XR
XR LXR
XY Y 3
**7 18 7 8 9
N | www. runcheng.net | 010-84450370——
34



ORDERING INFORMATION

® @ ® @ 6 ® @ ® ® W W @ B O
412 T03 XR M S - D2 H3 L3 C15 M4 E3 Bl Rl P1
@® * *
412 L1
L2
@ ~mm* L3
TO1 150 L4
T02 250 L5 c
TO3 350 . 3 d>>
T4 650 x 3 75 =0
TO5 800 ne
T06 1000 ® =8
TO7 1200 c1 QL)I—
e oo 3
TI0 2000 cs 0.375
C6 11mm
® Cc7 11mm
XR cs 0.500
Cc9 0.500
® c1o0 14mm
M C11 14mm
C12 16mm
® C13 16mm
S C14 0.750 19mm
C15 0.750 19mm
®
D1
D2 5mm
D3 10mm
D5 20mm
D6 25mm
@ *
H1
H2
H3
H4
H5
* 3
xx 3 7.5
e | www . runcheng.net | 010-84450370——

35



M1

M4

M14
M15
M17
M18
M19
M21
M22
M23
M29
M30
M31
M33
M90
Mo1
M92
M93

NEMA34
NEMA34

NEMA34
Neometric34
Neometric34
Neometric34
Neometric70
Neometric70
Neometric70
Neometric92
Neometric92
Neometric92
M105&SMN100
MPP092
MPP092
MPP092
MPP092

o

E1
E2
E3
E4
E5
E6
E7

B1
B2

R1
R2

P1
P2
P3

P4

**Z

36

ORDERING INFORMATION

1.0pm
0.5u m
0.1pym
5.0um
406XR
Class1000
Class1000
*
X Y Z -30 *x
Y X -30 ol
15mm
z X =30
404XR  406XR
XR  LXR
XY Y 3
18 7 8 9
| www . runcheng.net | 010-84450370——



LXR

400LXR * 5¢
. 3m/s
355N
1000N
e + 1um
. 100%
[ ]
400LXR . S
° 2 N
| -
o 1P30 o%
. 0.1y m 2'©
. 50mm  3m . g"
. 9310N . ]

e | www.runcheng.net | 010-84450370——




mSR
mSR X Trilogy

mSR MX
7x24

HMR ETH ETT
HVR ETH

ETT

HMR

LCR
XE OSP-E
0SP-E

XE

LCR

e | www . runcheng.net | 010-84450370——




c
-
59
e
S'©
el—
3]
(/7]

/N WARNING

FAILURE OR IMPROPER SELECTION OR IMPROPER USE OF THE PRODUCTS AND/OR SYSTEMS DESCRIBED HEREIN OR RELATED ITEMS CAN
CAUSE DEATH, PERSONAL INJURY AND PROPERTY DAMAGE.

This document and other information from Parker Hannifin Corporation, its subsidiaries and authorized distributors provide product and/or system op-
tions for further investigation by users having technical expertise. It is important that you analyze all aspects of your application and review the informa-
tion concerning the product or system in the current product catalog. Due to the variety of operating conditions and applications for these products or
systems, the user, through its own analysis and testing, is solely responsible for making the final selection of the products and systems and assuring
that all performance, safety and warning requirements of the application are met.

The products described herein, including without limitation, product features, specifications, designs, availability and pricing, are subject to change by
Parker Hannifin Corporation and its subsidiaries at any time without notice.

e | www. runcheng.net | 010-84450370——

39



XR Series:
Made in the USA

© 2017 Parker Hannifin Corporation

100012
010-84450370
010-84450371
www.runcheng.net

4.6.2017

218 C 968



